Equations of Parallel Lines

Decide w'hether each of these pairs of
straight lines is paralle| or not parallel:

(@y=2x+7andy=2x-5
(b)Y =3x+4 andy = 5x + 4
(€)Y =5x—3 and y = 5x
(d)y'=—4x+1 and y = 4x +2
(e)y=%x—8andy=9+%x
(y==-5+2xandy=5-2x

. (@) Write down the equation of the
| straight line that is parallel to y=4x -1
. and passes through (0, 5)

. (b) Write down the equation of the
. straight line that is parallel to

Yy = —2x + 7 and passes through (0, 3)

| (c) Write down the equation of the

| straight line that is parallel to y = %x =¥,
and passes through (0, —8)

(d) Write down the equation of the
. straight line that is parallel to

!

7 1
Ly = Ex ot 5 and passes through the origin

. (@) Write down the equation of the
straight line that is parallel to y = 1 — 3x |

and passes through (0, —2) E

(b) Write down the equation of the
straight line that is parallel to y —4x =1 |

5
and passes through (0, — 5)

| (c) Write down the equation of the '
| straight line that is parallel to

3x +y — 5 = 0 and passes through
(0,1)

Match the pairs of parallel lines:

y=-7x+3 y+3x=7
7+3x=y XY EEI3 =10
Tya=/a=2 1 y = 3x

(0,5 PQ(‘QHQ\
(b) Not pqm\\@\
(¢ Pacalle|

(d) Not ?cm\\o_\
() Pacallel
(£) Not paralle]

(o) t\—_ 4+5
(b) N -2+ 3
(c) 6:%3(:—%

() Y=3

(o) l\.y- — 35—

(b) Y= 4-3
() 6-‘» —30C+

\0=—7:>C+3 AND 73c+3+3=0
5 D@ = U ANNETE S )
g)—y?)gx_z T AND 73;1’&-’\:’(\-




